Word Problems: Percents

Name: Date:

__________________ Riddle 55

Do you know what to cdll
a one-eyed deer?

Solve the problems.
Solve the riddle using your answers below.

‘ 7810 The $10 T-shirts are 50% off.
. o
i@@ Now how much is each T-shirt" -

The $30 sneakers are 10% off.

$30 Now how much is each pair of
10% off sneakers? I
The $20 sunglasses are 20% off.
$20 . .
Now how much is each pair of

20% off sunglasses? O

The $50 backpacks are 50% off.

i 2
Now how much is each backpack” 5
The $40 coats are 30% off.
i ?
30% off Now how much is each coat? 5

The $20 watches are 10% off.

i ?
10% off Now how much is each watch? N

Solve the Riddle! Write the letter that goes with each answer.

$18.00 $16.00 $27.00 $25.00 $5.00 $5.00 $28.00
\_ J
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Answer Key

Page 55: Riddle 50

You grue-some!

T-0, Y-50%, S-310, U-30%, E-%10, R-70%, O-YAo,
A-10%, N-%0, M-60%, G-%10, D-90%
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